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SCHOLARS ACADEMY

1.
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(a)
(@]
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6.

[ ENGLISH ]

Direction: Choose the option that is the indirect
form of the sentence.

“We are going to Tirupati next week,” Deepa told
her friends.

Deepa told her friends  (b)
that they will go to
Tirupati next week.

Deepa told to her
friends that she is
going to Tirupati
following week.
Deepa told her friends  (d)
that we were going to
Tirupati the following

week.

Deepa told her friends
that they were going to
Tirupati the following
week.

Direction: In this question, each item consists of six
sentences of passage. The first and sixth sentences
are given in the beginning as Sl and S6. The middle
four-sentence in each have been jumbled up and
labelled as P, Q, R and S. You are required to find
the proper sequence of the four sentences.

S1: The machines that drive modern civilisation
derive their power from coal and oil.

S6: Nuclear energy may also be effectively used in
this respect.

P: But they are not inexhaustible.

Q: These sources may not be exhausted very soon.
R: A time may come when some other sources
have to be tapped and utilised.

S: Power may, of course, be obtained in future
from forests, water, wind and withered vegetables.
The proper sequence should be

PQRS (b) QPRS
SRQP (d SPQR

Direction: Choose the appropriate word to fill in
the blank.
Keep your friends close and your enemies

farther
closest

closer (b)
far away (d)

Direction: Choose from the four options, the word
that best defines/substitutes the given phrase.

A speech or piece of writing praising somebody
Angiology (b)  Etymology

Eulogy (d)  Arcology

Direction: Choose the appropriate word to fill in
the blank.

The problem is, I've got more
available friends.

lunatic (b)
ferocious (d)

friends than

grounded
rounded

Identify the segment in the sentence, which
contains the grammatical error.

Had you not reached in time, we will have lost our
lives.

Had you (b) lost our lives

not reached in time (d)  we will have
Direction: A sentence with an underlined word is
given below. Select the most appropriate
antonyms for the underlined word.

Ravi loves seclusion. Therefore, he lives in the
mountains.

(@) nature (b)  scripture
() seafaring (d) attachment
8. Direction: A sentence with an underlined word is
given below. Select the most appropriate
antonyms for the underlined word.
Hitler was a despot.
(@) Conservative (b) Dictator
(c) Passionate (d) Democratic
9.(9-13) Direction: In the following passage,

10.

(a)
(@]

11.

(a)
(@]

12.

—
(g}

)

some of the words have been left out. Read the
passage carefully and select the correct answer out
of the four alternatives for the given numbers.

Can (1) ____ work? Many individuals, having
learned to exercise and avoid excessive caloric (2)
are controlling their weight. The (3)
of the (4) burden from the rich to the poor
in many Western countries demonstrates that
knowledge and the (5) to cure upon it are

important.
Find the appropriate word to fill in the blank
number (3).

Mark (b) Distinction
Removal (d)  Shift

Find the appropriate word to fill in the blank

number (1).
Exercise (b)  Prevention

Caution (d)  Anything

Find the appropriate word to fill in the blank
number (5).

Vulnerability (b)
Expertise (d)

Ability
Insight

Find the appropriate word to fill in the blank
number (2).

Count (b)
Food (d)

Index
Intake

Find the appropriate word to fill in the blank
number (4).

Obesity (b) Corpulence
Physical (d) Fat
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14.

(a)

15.

(a)
(@]

16.

(a)
(@]

17.

(a)

(@]

18.

(a)

(@]

20.

(a)
(@]

Direction: Choose from the four options, the word
that best defines/substitutes the given phrase.
Hard and difficult to bend

Pliable (b) Rigid

Strong (d)  Flexible

Direction: A sentence with an underlined word is
given below. Select the most appropriate synonym

for the underlined word.
The poems of Kabir are ecstatic in nature.

efficacious (b) eerie
rapturous (d) reverential

Direction: A sentence with an underlined word is
given below. Select the most appropriate synonym
for the underlined word.

He is always anxious.

worried (b) dispassionate
sluggish (d) torpid

Select the most appropriate idiom of the given
meaning.

Get fired from the job

Get your walking (b)
papers

Idle hands are the (d)
devil's tools

Ivory tower

Hit below the belt

Identify the segment in the sentence, which
contains the grammatical error.

The box of paper clips are kept in the drawer.

are kept (b)  The box

of paper clips (d) inthe drawer

Direction: Choose the option that is the passive
form of the sentence.

Give the command.

Let the command be (b)
given

You can give the
command

The command should
be give by you

The command can be (d)
given

Directions: In the following questions, some part
of the sentence is underlined. Which of the options
given below the sentence should replace the part
underlined to make the sentence grammatically
correct? If the sentence is correct as it is given then
choose option D ‘No Correction required’ as the
answer.

I woke up early in the morning and had a

steamer cup of coffee.
has a steamer (b)  has a steaming

had a steaming (d) No correction required

21.

(a)

22.

(a)
(@]

23.

(@]

24.

(a)
(@]

26.

Directions: In each of the following questions, four
words are given, three of which are miss-spelt
while one is correctly-spelt.

Choose the correctly-spelt word.

Exacerbate (b)

Exacerbete (d)

Exacerebate
Exacerbatee

Direction: Choose the appropriate word to fill in
the blank. They did not want to leave to
chance while deciding on the trip.

something (b)  nothing

anything (d) someone
Direction: Select the alternative that will improve
the underlined part of the sentence in case there is
no improvement select “No improvement”.

The milk has boiled over and falling onto the
stove.

falls into the stove (b) fallen onto the stove

fall over in the stove (d) No improvement
Direction: In the given question, the sentence is
split into five parts and named (A), (B), (C), (D) and
(E). These five parts are not given in their proper
order. Read the sentences and find out which of
the five combinations is correct and mark the
respective option.

(A) payment security and safety to the next

(B) level by devaluing data

(C) and replacing payment

(D) credentials with tokens

(E) tokenization is the foundational aspect of
taking

ABDCE (b)
DBECA (d)

EABCD
ABEDC

Select the most appropriate meaning of the given
idiom.

A blue book
A book of secrets (b) A book of medicines
A government report (d)  Areport of diagnosis

by doctor

[ REASONING ]

IR RA T f § ot fve Ayl &2
What is the total number of triangles in the figure
given below?

(b) 18

24 (d) STH I DI 6l None of
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27.

(a)
(@]

28.

29.

(a)

30.

(a)
(@]

31.

(a)
(@]

these

y@an ¥ 3T Ug T g2
What will be the next term in the series?
240, 122, 64, 36, 23, __

11 (b) 195

17.5 d 8

fAd=r: afe v gdur &Y Y@r AB W @ wTg, Y i TS
S APl § § D H npfa vy rpfa It wgt
ofa gri?

Direction: Choose the correct mirror image of the
given problem figure when the mirror is placed to
the right of the figure.

r 1
S o NN 8
- e
© \
(d) £

R 74 $ 12 @ 21 57 I,
SYHT A BIT:
If 74 $ 12 @ 21 = 65, 47 $ 23 @ 13 = 57 then what

is the value of

=65 47 $23 @ 13 =

48$13 @ 28
32 (b) 34
23 (d)y 33

TP H HIWT H, TS SAILOR B 21414192631 & =Y

ﬁﬁr@m% dt S WTeT § MARBLE &1 fd

TR foran s

In a code language, if SAILOR is written as
21414192631, then how will MARBLE be written in

the same language?
1542392322 (b)

1542382522 (d)

EA TR | 31 €1 Ber @ a1 fr a5 qaf A w1
21 gt gaf 3iv arR #1 3mg &1 A7 66 I @, 3R
UNR $T AT 48 T ¢, a‘rqyfaﬁsrrgam%v (@t @)
Rahul is younger than Sagar as much as he is older
than Purva. If the sum of the ages of Purva and
Sagar 66 year, and the age of the ocean 48 year,
then what is Purva’'s age? (in years)

18 (b) 15
16 (d)y 20

1542392318
1542392116

32.

(a)
(@]

34.

(a)

(@]

35.

(a)
(@]

36.

afg T gdur B AB YT W @1 ST, oY € 7€ IR
;@ﬁﬁﬁﬁaﬁq\rﬁmwmaﬁmﬁwﬁ

A mirror is placed on line AB, which of the answer
figures is the right image of the given figure?

. U® §C UINT H, MATERIAL & NDYLTMGT & &0 |

foraT ST 31 39 U9 § PURCHASE &) {5 o
forar smeTm?

In a code language, MATERIAL is written as
NDYLTMGT. How will PURCHASE be written in that

language?

QWUGJDWJ (b) QXWIIEYM
QWUGICVI (d)  QXWIJIDXL

39 NG Pt UgaH P ot 1w T Tt &
dHa Yy ) Gad g &1 | guiiar

|, W, Har

Identify the diagram that best represents the
relationship among classes given below:

Apple, Fruit, Banana

OO0
a0

©0O

Frafafea wiexu o 98 1 & g smuw &
g ardl g1 gl o1 var e
Find out the two signs to be interchanged for
making the following equation correct:
5+3 x 8-12/4=3
+ 3R - +and - (b) -Gﬁ?/-and/
+ 3R/ +and/

+ 3R x + and x (d)

frdan: R T 7o wy # St Y= ok 37d 915 1 3R
I 3ifha g1 fepy faw w &1 3mue) W T Sy
P g AT € HA 81 3 I aA) F 3enT ydid gl
gl 9+t ot &1 ufew ok R T St/ 5 few

(b)

(d)
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T eyl & | S 9/eF A e Ry e syt
PT dlfchd = A SFERVT Hd 3|

DY

[t 3o T €

Tt IepuR T B

e

1. DI ST ASHAR T B

I1. $© T ISR E

Direction: In the question below are given two
statements followed by two conclusions numbered
I and Il. You must take the given statements to be
true even if they seem to be at variance with
commonly known facts. Read all the conclusions
and then decide which of the given conclusions
logically follow(s) from the given statements

(@]

(@]

O d
O O

S O

o O d

Tﬁ?%%ﬁmm o g1 Xiaa Mg @1 9 81 R e
?@?%@ﬂﬂm%iﬁé%lﬁmuﬁaﬁﬁ%ﬁ

Gqu is the son of Bhola. Sheetal is the daughter of
Golu. Chitra is the daughter of Dilip and Dilip is the
brother of Bhola. How is Chitra related to Sheetal?
dgH Sister (b) Al Mother
I Mother-in-law (d) 3fiet Aunt

disregarding commonly known facts. 41. ﬁ%!lT: W et arst ikl m mar %I forepel & &
Statements. IUYT §¢ U BT 999 B ol § oG g U Bl
. HYST ST
All kings are queens. N -
. Direction: An open dice is shown below. Select the
All princesses are queens. . losed dice f h R hat th
Conclusions: approp_rlate.::I osed dice hrorr; tI e options that the
I. No king is a prince. open ﬂfe will become when folded.
Il. Some queens are princes. O
(@) HId | WU FATG|  (b) HAd Il TR HRl g K]
Only | follows Only Il follows [ i
(© 18RI () A SRAE ar. =
FA 1 Both | and | SFERU AT 8| MU
follow Neither | nor Il follows
O K
37. WA ss W d, + w1ad s, s Ik k|t o IE
LT IR T o . ,
In a certain code language, '+' means '/’, '/' means , !
'x',"x' means '-', and '-' means '+'. L (d) FTHHPIL T None of
(13-5x8+4)x(5-6+12x3)/(4+2) =[ . these
(@ 7.5 (b) 29 (©
() 27 (d 11
. . 42. 3z & 18 Iw enpfaal A A, 3T IW P +T
38. g@e H SR UG FIT GRIN? TG FIA o vy enmpfa fd/MAfRa 21
What will be the next term in the series? Direction: From the given answer figures, select
25, 32, 37, 47, 58, _ the one in which the question figure is
(@) 66 (b) 71 hidden/embedded.
@ 79 (dy 84
39. R BN & TP chs P -l Uy 3MPpfa A fe@me 2
T STAR HIST 3R BT 7T 71 & T8 IR npfaal
ﬁmaﬁmﬁa@aﬁwwﬁﬁ@ﬁ%ﬁl
Direction: A piece of paper is folded and punched
as shown below in the question figures. From the
given answer figures, indicate how it will appear (@) (b)
when opened.
AR RS
[F i ¥ I&
© (@
O o ,
O o o 43. YA mpf gERN A o 2
(@) O (b) < Which figure is different from others?
Mob. - 01141676717,9312712114 Page 5
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(a)
(@]

45.

(a)
(@]

47.

(a)
(@]

48.

(a)
(@]

49.

(KD A

fe, ' + B ¢ F U Pifsa fFaTSEar g, ‘x  H
# P PSR, + P '@ " FEY
A HIfsa fParsmarg sk * - ' & 1 & wu A Sifsq
o SiraT @ Y 39T A g

If,” + "iscodedas‘$’,“x"iscodedas ‘#,' +"is
coded as ‘@ ’, * - “ is coded as ‘ ! ' then what is the
value of

95@5%$46!3 #27

-18 (b)y -21

-16 (d)y -14

s Ffid s W &, v waf § x e FT A 7
Lo BT SR R BT AR

In a certain code language, '+' means 'x’, 'x'
means '-', '-' means '/’, and '/’ means '+'.
9+4-6x6/8

8.5 by 8

5.25 (d) ©

@ @ & 7€ ¢, e A @ 1 qa 21 R ™
fawent # & a8 w3l fawey gy, S gaem & @
ol

A series is given with one term missing. Select the
correct alternative from the given ones that will
complete the series.

V,R,M,G,?
P by Q
z d Y
Ty 2015 PT HFas [$A a4 & T FHH gHm:

The calendar for the year 2015 will be the same for
the year:

2042 (b) 2045

2040 (d) 2041

fer: 39 fawer &1 9= Y & Fad J'n =@
Fwﬁa%ﬁﬁgﬁmwﬁmﬁwﬁa
|

Direction: Select the option that is related to the
third number in the same way as the second
number is related to the first number.

5:150::8:?
864 (b) 576
262 (d) 186

e 39 faweu &1 999 Y & 9 sem 4 3
?m%ﬁmmmmam
[

(a)

50.

(a)
(@]

51.

(@]

52.

(a)
(@]

53.

(a)
(@]

54.

(a)
(@]

Direction: Select the option that is related to the
third number in the same way as the second
number is related to the first number.
49:343::121:?

1331 (b) 1495
1728 (d) 1234

3w & 1€ e B W@ B F RE P AT AR
e vy fug (2) 3t g A

Direction: Which letter cluster will replace the
question mark (?) to complete the given series?
TRKM, XVIK, BZGlI, ?, JHCE

FEGG (b) FDFG
FDEG (d) EDFH

[ Quantitative Aptitude ]

Tfe TP TUSIV YT FT MUR 3R Hof Ha=r: (u? -
vY) 3R (u?+ v?) B SR AIYyw &1 &3wa 2016 o
TS &, @ Arys o1 ufvwmg @ @2

If the base and hypotenuse of a right triangle are
(u2 - vZ) and (u2+ vz) respectively and the area of
the triangle is 2016 square units, then what is the
perimeter of the triangle?

224 ZHTS 224 units (b) 288 THTS 288 units
448 THTS 448 unit (d) 576 SBT3 576 units
@ 919 A 3R B 108 frel #t & wv fRya S =T A
T g B SR T = B 2 | 3id o7 F A1at A

3R B F} i 12 ffi/der ok 15 famefi/aer 81 afg
AR P IR TGATE 3R B URT P FW WATAT ¢, a1 @
e

Two boats A and B start towards each other from
two places located at a distance of 108 km. The
speed of boats A and B in still water are 12 km/hr
and 15 km/hr. If A moves downstream and B
moves upstream, they will meet:

459 4.5 hours (b) 4€YT4HS
5.4 °¢ 5.4 hours (d) 6% 6 hours

mag—l—-?.az—l—!}a:l,a

3 3

‘al ——
a T ( a ) BT HH |1 2?2
31 (b) 26
28 d) 24

sin 20° sin 40° sin 60° sin 80° WWW%’

What is the value of sin 20° sin 40° sin 60° sin 80°?
-3/16 (b) 5/16
3/16 (d) -5/16
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Page 6




SCHOLARS ACADEMY

55.

(a)
(@]

(@]

58.

59.

(a)
(@]

60.

T ¢t # 300 gruatt & fieds T T R UE™
9 & §1 S Hatud gei BT AU 13: 11 31 TP
¥ & Riad ot we1 3-

A box contains 300 coins of denomination one
rupee and fifty paise. The ratio of their respective
values is 13:11. The number of one rupee coins is-

150 (b) 152
154 (d)y 111

V13411
V143 = 11.96 & & VI3—vI1

HTHME:
13.96 (b)
22.96 (d)

3 qf & fog yfe af 8% WURY &9t W §F A TH
T fasr 3t i afe 39 4 9 & fore =g v
¥ 8.5% Ufd a¥f WTuRor s uR fya=r fsan e, ot
ATH 500 FUT T grar| fra=r o it iRy & 32
A sum was invested in a bank at 8% simple interest
per annum for 3 years. If it had been invested in a
mutual fund for 4 years at 8.5% per annum simple
interest, the profit would have been Rs 500 more.
What is the amount invested?

5000 (b) 5500
5550 (d) 4500

At $¢ & IR R TRR | 99 YT BT 9T T
TR T HHRT: 112 AH TuT 70 A 7, @ Y
BT TG FIT §?

If the outer and inner diameters of a parapet made
of stone around a well are 112 cm and 70 cm
respectively, then what is the area of the parapet?

23.96
25.96

264 1 94} 264 square  (b) 3003 T THY 3003 sq
cm cm

6006 97 TH 6006 d) 24024 T QY 24024
square cm square cm

48 BT aTelt TP BT BT NI 9o 36 el g1 afg
1&g 3R weUTTATIS HT IO A fHar S 3|
a o 36.76 el g wmam B1 @ e SR
YUTFTATYS & o HT TR J1d B |

The average weight of a class of 48 students is 36
kg. If the weight of teacher and headmaster is
included. So the average becomes 36.76 kg. Then
find the sum of the weights of the teacher and the
headmaster.

108 f&dl 108 kg () 112fFar112kg
110 f&@l 110 kg d) 114fFar114 kg

Az Fufafae ud-sma &1 wFyde ssraq
PR IR Fafafad vl & 3w dRm
fufafea us-ema fafim dufaay o smsdt
TH-NRrEAT ¥ ufrerd favor &) qufar @

T AT AHNRGT = 2000

(a)
(@]

61.

(a)

63.

(a)
(@]

64.

(a)
(@]

7%

i)

fawt

13%

1%

fom & & B a AMEST THAREAT B T=
3R T 8 & # o1l A A Mg aHIREE) Bt

T P HefRId SIUTd 1 82
5:4 (b) 4:5
13:8 d) 8:13

ST WU & 66% % P HIfer® g1 afe TP U
I Hufy BT 30% 3w 125000 $UC §, & ¥Wufd &
45% &1 e (FUY H) Fq71 82
Anuja owns 66%:% of the property. If 30% of the
property he owns is worth Rs 125000, then what is
the value (in Rs) of 45% of the property?
262500 (b) 281250

225000 (d) 270000

32 At T 3R 9 A TS AT TP UTg F NP B
forareman s 8 SR 2 S B & W e s
SITd 8 1 T fpaa et §HTY S 99 82

A metallic cone of diameter 32 cm and height 9 cm
is melted and cast into uniform spheres of radius 2
cm. How many such balls can be made?

72 (b) 42
48 (d)y 24

frafafaa d @ fog T=n @ 1056 A s W23 §
fautRra faar v wwar &2

hich of the following numbers when added to 1056
can be divided by 23?

2 (b) 0
6 (d) 1

TP gd9 | 2.5 Sl uHT 3R 10 ez e’l?n%l
T Bt 20% AEAT I geT fa1 oA g %ﬂ

T SR gU & SJUTd B IdAeA F g x iﬁaquﬁ
foraman Sirar 1 R Uit 3R gU & SruTd B I
¥ e R @ y ftex gy e wirar 81 y o= 919
Fiford

A vessel contains 2.5 liters of water and 10 liters of
milk. 20% of the vessel’s volume is removed. In the
remaining quantity, x liters of water is added to
reverse the ratio of water and milk. Then y liters of
milk is added again to reverse the ratio of water
and milk. Find the y value.

120 (b) 200
150 (d) 100

Mob. - 01141676717,9312712114
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65.

(@]

66.

(a)
(@]

69.

TP JAMGR 9gYS ABCD & ol ot awarg 18
It 81 3f P 3R Q FHIM: 2ADC 3R MBC F TP
g1 99 PQ @1 TS &2

The length of the diagonal of a parallelogram
ABCD is 18 cm. If P and Q are the centroids of
MADC and AABC respectively. Then the length of
PQis?

9 9H 9 cm (b)
g ¥ 8 cm (d)

53 5cm
6 I 6 cm

10% Fe 3R fiFY TR 20% @e Fa fbait Yed
IR 82

10% discount and then continuous 20% discount is
equal to what total discount?

15% (b) 30%

24% (d) 28%

%

{ 9 9P YT PT 3NFd da-T 12000 =T &
Jars & Riamr 9% &1 3i|a a9 13000 =UY
3R sifew &9 o= &1 oiwd A9 Jars @
famR & offd 399 ¥ 1500 ®UT &f¥& g1 o
Horg Ft A1 S Ia J1d B |

The average salary of Sanjay from January to June
is Rs 12000 and the average salary from July to
September is Rs 13000 and the average salary of
the last three months is Rs 1500 more than the
average salary of July to September. Then find the
annual average salary of Sanjay.

12785 FUY Rs 12785  (b) 12585 ¥UY Rs 12585
12675 ¥TY Rs 12675  (d) 12875 ¥ UY Rs 12875

e

3BT, T3 3N fHomTer T & WH F e gE
Pd § SR HHKM: 30, 40 3R 60 fH it ufy 62 F wfq
J U & foxr & g v @ T U A QI U 918
AT Y= Bl 8| afe a7 3R frzorarar S awa
3BT ¥ M fAwd M, df U & fHaq 6 91
foroTaTe A 9 3RE B

Arun, Barun and Kiranmala start from the same
place and travel in the same direction at the speed
of 30, 40 and 60 km per hour respectively. Barun
starts the journey two hours after Arun. If Barun
and Kiranmala overtake Uranus at the same time,
then how many hours after Uranus did Kiranmala
start the journey?

3 (b) 35
4 d) 45
e I Y TG 3R o T usi FTIW S|

5 guf # &1 HUfal A 3T B GRT HeTferd uRAST3IN
P @I A Yaftd el

(a)

70.

(a)
(@]

71.

(a)
(@]

72.

ufarsHnal @t dwm

—=A -8B
¥ 2005 3R 9 2006 T HU A FRT G 7§ FaA
gRaeErel & | 20% WReR! ufaeEme ff | af
2005 3MR 99 2006 H HUT A GRT HHTA TS TRPRY
AT B o e frast oz
108 (b) 132
128 d 122

frdzr: T T usf &1 IwR A & e Al aw
PT AFYED T DI |

frafefad IR a1 2017 # uig HufAai A, B, €, D, E
B 39 3R T B (@S H) a2 T

0
n

15
0 7]
15 15
15
jrd

m ]

5

o

A L]

C o E

» T 3
wl%zonﬁ'a’smﬁAﬁarlrazmsﬁ'waﬁermﬁ
10% ®H 4t 3R 2016 & HUAT A 10% @H 3rfofa
o, at 2016 ® IHST W (FRIS H) TTHIT T U

13 (b) 15
16 (d)y 18

Y99 BT 9% YEI gaha 88 i AW g1 I@T @Y
fr=ar e $ Fa1$ | 8.6 W 71 dAH B 3R WA
¥ Bioar & &g &1 eguId 2 : 3 31 WA BT A
Td BT

The curved surface area of the cylinder is 88 square
cm. The radius of the cylinder is 8.6 less than the
height of the cylinder. The ratio between the radii
of the cylinder and the radius of the sphere is 2 : 3.
Find the volume of the sphere.

32 O ¥ 32 cubiccm  (b) 39 T FHT 39 cubic cm

4199 I 41 cubic cm (d) 46 T THY 46 cubic cm

afe Te Ma 3 B oAy @, o Fafafea & @
-1/ TE 3/

1) 391 Y81 &Fwd uRAT g1

2) ST ATdT IRAT g1

i AT 1T Fe &1 wahT Hd A6t SR g

If the radius of a sphere is rational, then which of
the following is/are correct?

Mob. - 01141676717,9312712114
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(a)

73.

(a)
(@]

74.

(a)

(@]

75.

(@]

76.

(a)

(@]

77.

(a)

(@]

78.

Mob.

1) Its surface area is rational.

2) Its volume is measurable.

Select the correct answer using the code given
below:

&ad 1 only 1 (b) wHad?2 only 2
13R28H both Tand (d) Adl13RATE2

2 neither 1 nor 2

3 Ol & AT 27: 64 & UTd A &1 ST sl
ATGE! BT U 8-

The volumes of two cubes are in the ratio 27 : 64.
The ratio of their surface areas is:

34 (b) 4:3
16:3 (d 9:16
3 D 1 i}
573 9) 3
3 . 5 1 5
Equat: 8 (3 ~6) s
3/8 (b) 2
7/8 d 1

Tfg 23846x, 6 | AU § 99 x BT GI BleT AH
14 DT
If 23846x is divisible by 6 then find the smallest
value of x.

1 (b)y 2
3 (d)y 4

[ General Awareness ]

Afyfafee & @ o9 @t oo Affes i g
ferelt € @2

Which of the following book is written by
Rohinton Mistry?

IR, SR English,  (b) 3R UW oW 1S Jalicd

august Our Moon Has Blood
Clots

HiTg B Serious man  (d) U BT Sai9 A fine
balance

1930 & TP PT HETHC! BT HIRUT UT:

The Great Depression of the 1930s was caused by:
PP VB IAGASD  (b) g Ie d FRIGe Fall
1Y Sl § fRMae of wheat production
Over production and
fall of agricultural prices
QIR SIOIR BT & GIAT (d)

Crash of stock market

19 &1 3T
Overproduction of rice

g g # 9t uider 3R Hiega U frw WA
FRT @i foraT T 72

Recently 'Sathi Portal’ and mobile app has been
launched by which ministry?

- 01141676717,9312712114

(a) TRramwzmerm (b) T AT
Ministry of Education foreign Ministry
(© PN AT (d) T HARTE
Ministry of Agriculture home Ministry
79. fafafed # & o4 tgy a9 4 Wda 72

(a)

(@]

80.

Which of the following is independent of the
address bus?

IYpUsst AR (b) 79 AERY Main memory
Secondary memory

3{11 9IS FHRT Onboard  (d) =T HHRY Cache
memory memory

gl HRd-uEds b= SHENT &1 e Fgi
far T v@T 37

Where is the 8th India-Thailand Defense Dialogue
being organized?

(a) Sebrch (b) s faeeh

bangkok New Delhi

(© @l (d) He

Dhaka Mumbai

81. gﬁmﬁﬁmmmmwm%ﬁ

?

Priyamvada Mohanty is associated with which
classical dance form?

(a) DHYDBA! Kathakali (b)y HRJATRH

Bharatanatyam
(© 3NfEt Odissi (d) T%TI'IET[ Koodiyattam
82. f¥a Treq uikue wiarey & 999 JaeeR &

IRW far mar 32
Who has been appointed as Military Advisor in the
National Security Council Secretariat?

() UdURiE OREEIESEINE]
Sandeep Singh Anil Chauhan

© IdPuUR (d) SR
Sunil Kumar Ajay Kapoor

83.

(a)

(@]

84.

(a)

(@]

fFafafaa & @ 5w TR TS-aa o Qi sfa
fRRa

In which one of the following States/UT, is Lake
Tsomgo located?

AERA Ladakh (b) fEHTd UG Himachal
Pradesh
fafasd Sikkim (d) IS Uttarakhand

fFrafafaa o F feaeT SwaT urefas g ufawdf
IR F3A | o s 32

Which one of the following is used in preparing a
natural mosquito repellent?

WWCongress (b) uferthe o Elephant
grass

grass
GEERoIR Lemongrass (d) {C Y Nut grass

Page 9
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85.

(a)

(@]

86.

(@]

87.

YRA & WRIYH BT SIH-GT U HTUBR] 5T &
TR Y TYUT HaT 87

Which part of the Constitution of India declares
the ideal of a Welfare State?

g i & Fdxres (b) WD RBR

<1 Directive Fundamental Rights

Principles of State

Policy

URATEHT Preamble (d) rdl 3YE Seventh
Schedule

DC THieR GRT UATdd! URT ST g1 ATUT ST Whell §
Fif:
Alternating current cannot be measured by a DC

ammeter because:
YTl URTDC THeR (b)) ol =1h 7 3 A
I ? Average value of

& A1 9 51 o
Iqpait Alternating complete cycle is zero

current cannot pass
through the DC

ammeter

UTad URT SHHI RN (d) 375 § HIs Ao None of
EESEGIE Alternating these

current changes its

direction
BT €1 § f5d I59 & gerEl A UIRd &1 ugen gat
forre aifoifes gi= af= farar 82

Recently, the Chief Minister of which state has
launched India’s first heavy lift logistics drone?

(a) offgM (b) UfEH S
Odisha West Bengal

(0 HEYS™ (d) ORI
Madhya Pradesh Rajasthan

88.

(a)

(@]

AHEHT & IUTHS & IR § Fufafed & & o= @
B e TE &2

Which one of the following statements about the
Deputy Speaker of Lok Sabha is not correct?

IUHY BT A (b)  SUTHE MMHIR R
Tl gRT 304 gt # AHIHT & g &
Q a1 ST § The R Brafay H e

Deputy Speaker is
elected by both the
Houses from amongst

The Deputy Speaker
remains in the office
usually during the life

its members of the Lok Sabha

Jg fpl i wmg sremer  (d) O Sreme T 9o A
B AT AT R U 5T ¢ dl 98
TRTA § Gl § He e B < el Bt
may, at any time, resign agaa%aasﬁ STE(dT
by writing his 1t %31 8 He also
resignation to the presides over the joint
Speaker sitting of both the

Houses of Parliament,
in case the Speaker is
absent from such a
sitting

89.

(a)

(@]

91.

(@]

93.

(a)

(@]

94.

(a)

SR e - SHfaveH A frads forg 32
'Operation Greens' is a government scheme for:
19 & Ul BT B (b)  TOP (THIC WS 3T
Development of Tl B &rrtﬂ%f
bamboo crops RIS Supply
stabilisation of TOP
crops (Tomato Onion

Potato)

Tod RGN H SHYE  (d) Yl & IR g
3R f43%" Research and IR General price levels
investment in crop of crops

education

16 fTT BT TP TAIST &) FIT HT AT 82
A combination of 16 bitsis called ______.

Teq; word (b) & nibble

TR <l memory (d) dIgC byte

block

Praffe & @ fa v werf whan
AT FHRE BR Yo o o afd e f
PITASIRI) (2000) F HeAE BT A?

Who among the following was the Chairman of the
National Commission for Review of the Working of
the Constitution (2000)?

TS T, (b) = SuE. Af
Justice M.N. Justice J.S. Verma

Venkatachaliah

refd ST iy d) I ars.®. gHRATd

Justice Ranganath Justice Y.K. Sabharwal

Mishra

ISR RoR &Y 3= g A @Y oA

‘Rajatarangini’ was composed by:

Heg Kalhana (b) TREEIHA |
Mahendravarman |
RYYRIH (d) fo@& Bilhana
Parameshwaravarman
fFrafafaa & ¥ 19 91 Juaa+ 950 8 82
Which of the following is not a condensation
polymer?

Uiciforatigrga (b)

™A 6 Nylon 6
Polyacrylonitrile

21 Dacron (d) SPATSC Bakelite

Profifad 3 @ o & fra g #) Ritaes &
A & off ST ST 82

Which of the following forts of Rajasthan is also
known as 'Chidiyatunk'?

ORI et (b) AEIE fobar
Ranthambore fort Mehrangarh fort
HY@TG fobarm (d) IHR T Sonar fort

Kumbhalgarh fort

Mob. -

01141676717,9312712114
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95.

(@]

96.

(a)

(@]

97.

98.

(a)

(@]

99.

Qﬂ@@‘wﬁ YA (TTCHSRITSTE) 3R W+
T A YR Ha garsil o IR

% A F 99 T swh 1 & forw yrfierdt

Eakdl

NSDC International (NSDCI) and Perdaman have

partnered to create an interface between Indian

skilled youth and market opportunities in

country.

Gf\f@j%lm Australia (b)
Ti&mr SIRAT South (d)

Korea

YR § Fx oo & waufe eyt & dgd
% A 19 1 B & o) I avE A Il §RT @
3R gl ST B2

Under the constitutional provision of tax
assignment in India, which of the following is a tax
exclusively imposed and collected by the states?

Y-ITSIXG Land Revenue  (b) R Corporation

Tax
Sfeget GST (d)

3T R Income Tax

SW s o & o F fowy A Fafafea e
F A p-a a2

Which among the following options regarding the
nature of the religion of the Later Vedic period is
correct?

HIIASEASH DA (b)
e I UG R ferm

YT The God Indra

SIUT Japan

ngy:ﬁﬁ?; New Zealand

39 BT H 7l gor &1
U YT Idol worship
was practiced in this

occupied a supreme period

position in this period

I, o8 <l Bt (d) ol sftrer @1
ST = arar T Ufasfid & & S1age
ST T, 3 & BT SfeeH U@ 1 T A
HITAT HET ST T Sacrifices became

Pushan, who was
supposed to look after

prominent though
private sacrifices was

weapons was regarded prohibited
as God of the

Kshatriyas

Where is Mount Kilimanjaro located?
ST (b) T Russia
Afghanistan

TIAT Tanzania (d) e Libya
gar A o diae | YR giar 8 3R 39
HET ol 2

The first menstruation begins at puberty and is
called as

TSGR Menarche (b) RIS ¢H Menstrual
cycle
R o WWesar (d) SN Menopause

Menstrual Hygiene

100.

BT € YRR I1 A =g i} St A= U &7
ufRreor 33 & e fpa gfaRid & Ty aushiar
fear 82

Recently, the Indian Army has signed an
agreement with which university to provide
Chinese language training to military personnel?

(@) doIgR AR (b) faceh gfaRidt
Tezpur University Delhi University
(0 ST gFaRid (d) U gFaRict

Osmania University

Punjab University

Mob. -
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